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QUESTION 1

User SCOTT has been granted CREATE ANY TRIGGER and ALTER ANY TABLE by the DBA. HR is an
existing schema in the database.

SCOTT creates the following trigger:

CREATE OR REPLACE TRIGGER drop_trigger

BEFORE DROP ON hr.SCHEMA

BEGIN

RAISE_APPLICATION_ERROR (-20000, “Cannot drop object\\);

END;

SCOTT does not grant the EXECUTE privilege on this trigger to any other users.

For which user(s) would this trigger fire by default when they drop an object in the HR schema?
A. Only HR

B. SCOTT and HR

C. Only SCOTT

D. SCOTT, HR, and SYS

Correct Answer: A

QUESTION 2

Examine the following PL/SQL code:

DECLARE
stock_price NUMBER := 9.73;
net_earnings NUMBER := 0;
pe_ratio NUMBER;

BEGIN
pe_ratio := stock price / net_earnings:;
DBMS_OUTPUT.PUT_LINE( ‘Price/earnings ratio = ' || pe_ratio):
END;
/

Which statement is true about the execution of the PL/SQL code?

A. It executes successfully.
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B. It generates a run-time exception.

C. It does not execute because of syntax error.

D. It executes successfully and generates a warning.

Correct Answer: B

QUESTION 3

View the Exhibit and examine the structure of the employees table.

Name Null? Type
EMPLOYEE_ID NOT NULL NUMBER(¢6)
FIRST NAME VARCHARZ (20)
LAST NAME NOT NULL VARCHARZ(25)
HIRE DATE NOT NULL DATE

JOB_ID NOT NULL VARCHARZ(10)
SALARY NUMBER (&, 2)
COMMISSION PCT NUMBER (2, 2)
MANAGER ID NUMBER (€)
DEPARTMENT ID NUMBER (4)

Examine the following block of code:
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SQL>DECLARE
2 v_sal NUMBER;
v_name VARCHARZ (30);
4 v_tenure NUMBER;
5 v_hire date DATE;
6 BEGIN
7 SELECT AVG(salary)INTC v_sal FROM employees;
8 SELECT hire_date,DECODE (salary, v_sal, last_name,’NA’)
9 INTO v_hire_date,v_name
10 FROM employees
11 WHERE employee id = 195;
12 v_tenure := MONTHS BETWEEN (CURRENT DATE, v_hire date);
13 END;
/

What is the outcome when the above code is executed?

A. It executes successfully.

B. It gives an error because decode cannot be used in a PL/SQL block.

C. It gives an error because the AVG function cannot be used in a PL/SQL block

D. It gives an error because the MONTHS_BETWEEN function cannot be used in a PL/SQL block.
E. It gives an error because both the AVG and decode functions cannot be used in a PL/SQL block.

Correct Answer: A

QUESTION 4

Which two statements are true about the INSTEAD OF triggers? (Choose two.)

A. DELETE operations cannot be performed using the INSTEAD OF triggers.

B. The INSTEAD OF triggers must be created to add or modify data through any view.

C. The INSTEAD OF triggers can be written only for views, and the BEFORE and AFTER timing options are not valid.

D. The CHECK option for views is not enforced when insertions or updates to the view are performed by using the
INSTEAD OF triggers.

Correct Answer: CD

QUESTION 5
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Examine the following code: Which statement is true about the execution of the above code?

SQL>SET SERVEROUTPUT ON;
SQL>DECLARE
v_myage number;
BEGIN
IF v_myage < 11 THEN
DBMS OUTPUT.PUT LINE(' I am a child ');
ELSE
DBMS_ OUTPUT.PUT LINE(' I am not a child ');
END IF;
END;

A. It executes and displays null.

B. It executes and the condition returns true.

C. It executes and control goes to the else statement.

D. It fails because no value is assigned to the v_myage variable.

Correct Answer: C
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